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(3 Hours) [ Total Marks : 80
Note: 1. Q. No. 1 is compulsory -
‘2. Solve any 3 out of remaining 5 ques; ' 13,5_
Q- 1. Solve pnv five ‘ '

A. Wl‘l‘tﬁ short note on Taylor’'s stability number?

B. Compare Rankine's and Coulombs lateral

C How elastic & consolidation settlements ;
D. Explain aay two ijﬁﬂ.t'mc- fnrmulae and I.L‘  limitations.

E. Explain with neat gketch method of constrjction of Imperfect ditch Cunduir.

F. Write short note on Drainage, wall joints and construction of retaining wall.

G. Briefly discuss mechanism of soil- rr:.a.nfn 1

(4x5)

pressure theory.
calculated for foctings.

Q2. A) A cul:ha.s been made atanﬂﬂgle uf.?:s to the horizontal Aposm?.:!‘-a circular failure
curface has radius =22 m and is passing through the toe of the cutﬁlapaanﬂﬁrnugh a point 5.1
away on thatnp ground fom the edge of the cut whose centre ofgrniq.hqfthafmlm mass isar
a distance of 10m from the centre of failure circle .The properties nj‘%ml are C= 40 KN/m?, ¢
=18",7= 20 KN/m*.determine factor of safety that would be aimﬂal}!g*nn the said failure surface
for the cut .Use Friction circle method 10

'B) A retaining wall 7.5 m high ,with a smooth varucalkfu:mpushed against & s0i]l mass
having C—= 40- EN/m2, & =18 “y=17.9 KN/m* What is &tﬁ%nmﬂﬂﬂn.ﬁaﬂnm'ewm if the
. horizontal soil surface-carries a uniform load of 25 ma,w What is the point of application of
the resultant thrust? In_the above pmblem, all quantities being same, if the wall is pushed
towards the backfill, cz.l-:ulamﬁ:tﬁmagmmdc and yosriion nfthne.-ramltamﬂ:.rust. 10

Q.3. A) A square column foundation is to I:L emgm-.d for a gross allowable total load of 250
KN, If the load is inclined at an angle -:pf 15" to the vertical, determine: the width of the '
foundation. Take factor of safety of 3.0 aud use Vesic,s uquatmn v= 19 KN/m?, ¢ =35%, C=5
KMN/m?.The depths of foundation islm. 1"'4:3 = 46.12, Ng=33.30, Ny=438.03) - 10

ion & limitations. ’ 07 .

Q.4. 4) Determine the lpad CATying Eﬂpﬂﬂil}' ifa group of 9 plles".Dmm:'bar'nf pile is 400
mum- length of pile 15- r,-f[ “jong ,Properties of sand - are O=0, §=35°, yo=15 KN/m?® and ¥su =17
KN/, Kytand=1.5, mi:h';al depth of pile as 7.5 times diameter of pile, Ny=70, Properties of
clay is yeu =16 Kﬂfmﬁ Soil deposit consist of sand of 20 m thick followed by 4m. thick slay"
layer. Thé Groyfid water level is observed &t 2m from Ground surface .Also defermine fhe
settlemient of Eg.‘mp piles in clay. Teke Ce / (1-+e0) = 0.22 10

B) Exphm%hann scnunsm:.c-tmn mﬁ‘thadtﬂﬁﬂliﬂﬁlﬂ'ﬂﬂﬁrdlpmﬂ!‘& - 05

: | [ TURN OVER
MD-Con. 7324-15.



2 | QP Code : 6251

C) Estimate the load on the struts mppnrtma thrs ap-&n cut mﬂ: soil deposit as follows:
ﬂ.ﬂmmlﬂm  Soft olay (y =17KN/m’®, e=10kN/ m?, and $=07)

2.0 m to 5,0m — Medium stiff clay (y =19kN/ m’ ¢=30kN/ m?, and ¢=07)

5.0 m to-12.0m stiff clay{y =20EN/ m* =50 , and tbﬂﬂ”} The depth of open cut is 6m.
Struts are located at 1m, 3m and Sm from the gr { lavel. H mmgafthaﬂ:um;;4ml s
Qi&jﬁmmwrﬁtainingwaﬂﬂfuﬂpﬂm 2 ion with the la:ﬁcalfacaunthr:mﬂﬂdhh
1.5m wide at tpp and 3.5m wide at the base and is 5m high. t retains & sand slopp :
horizontal to 1 vertical. The unit weight of sand is/18KN/ m* and ¢ =30°. FM&HT
mmmprmﬂthbbﬂﬁﬂnfwﬂlm u.mtweaghtufmamryas N (Figure

is given below) : T -
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) Mmﬁmmﬁﬁsnﬁwﬁngm&%lw of soil 04
OR & ' :
D) Write a.ss'umpﬁq@f’rcmghl‘s Analysis for bearing capacity of shallow foundation.
s ";L . - ._ | ' i I
Q.6.A) &squ.qbfmmgnfm-m#mhfaundedntndgpthnﬂmh:lnwd:ﬁg‘:mudmuﬁu im
loose to m dense sand, The corrected standard penetration test value N =.11.Compute the
net safe be gpresmfwasﬂﬂiﬁmﬂntﬁf4ﬂmmmmgmﬂﬁﬁedﬁqmtmnﬂﬂfangs 10
B) “@%nshurtnqteunﬂm-synﬁlmc& - | - 08
G}i"@ﬁa:ﬁ' the dnvmpllaaamurdzngtoﬂm function bfsml Support the answer with proper
i ' : : .
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